
Multiply by Powers of Ten (A)Find each product.
58 × 10 = 75 × 10 =
54 × 10 = 21 × 0.1 =
2 × 0.001 = 3 × 0.1 =
54 × 1,000 = 71 × 100 =
33 × 10 = 24 × 100 =
61 × 10 = 61 × 10 =
95 × 1 = 4 × 0.01 =
68 × 10 = 17 × 0.01 =
89 × 1 = 52 × 1,000 =
20 × 0.001 = 49 × 1 =
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Multiply by Powers of Ten (A) AnswersFind each product.
58 × 10 = 580 75 × 10 = 750
54 × 10 = 540 21 × 0.1 = 2.1
2 × 0.001 = 0.002 3 × 0.1 = 0.3
54 × 1,000 = 54,000 71 × 100 = 7,100
33 × 10 = 330 24 × 100 = 2,400
61 × 10 = 610 61 × 10 = 610
95 × 1 = 95 4 × 0.01 = 0.04
68 × 10 = 680 17 × 0.01 = 0.17
89 × 1 = 89 52 × 1,000 = 52,000
20 × 0.001 = 0.02 49 × 1 = 49
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